Honors Algebra 2





 Name:_____________________________________

UNIT 1: Quadratics Revisited – Study Guide
Factor the expression completely.
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5)  What are all the possible values of b in 
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in order the expression to be factorable?    

        Assume that 
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(positive).
Solve each equation by factoring.
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Simplify completely
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11)  What is the complex conjugate of 
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Simplify or perform the indicate operation. 
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16)  Solve for x by completing the square.  Give exact solutions in simplest form.  
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17) Solve using the quadratic formula. Give exact solutions in simplest form.  
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Solve the equation using any method. Give exact solutions in simplest form.  
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23) Find the discriminant of the quadratic equation. Do NOT solve the equation.
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24) The discriminant of a quadratic equation is given is given. What does it tell you about the number 

       and type of solutions the equation will have?
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